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CLASS: FYBT SUB: GLOBALIZATION, ECOLOGY AND SUSTAINABLE DEVELOPMENT

2 2 HOURS TOTAL MARKS: 75

Attempt all questions.

Draw neat labelled diagrams wherever necessary.

Use of log tables and non-programmable calculators is allowed.
For Q2, Q3 and Q4 attempt (A and B) OR (C and D).

Select the appropriate option for the following questions. 40

FDI means .
(Forex direct investment, Foreign deregulated investment, Foreign direct
investment, Forex deregulated investment)
For how many industries, licensing is still necessary?
(6,7, 5..8)
Right to Education is guaranteed under Article
(14, 19, 21, 26)
Which of the following are moral principles that'describe certain standards of
human behaviour and are regularly protected as legabrights?
(National rights, Human rights, Women rights, Men‘rights)
When did the government remove the bariers for investment in India?
(1990, 1992, 1996, 1991)

refers to relaxation of produce gevernment restriction usually in areas of
social and economic policies.
(Privatisation, Globalisation, Disinvestment, Liberalisation)
Disinvestment means selling of @ public investment to a
(Private enterprises, public enterprises, Capital market, Departmental enterprises)

environment provides scope of tourism, sports, wildlife and adventure.
(Natural, Political, Social, Organizational)
Environmentincludes
(Abiotic eemponent, Biotic component, Oxygen and Nitrogen, Abiotic and Biotic
component) '
The largest ecosystem of earth is
(Biome, Hydrosphere, Lithosphere, Biosphere)
The process of occurs when the surface of the land is worn out or lost.
(Emission, Desertification, Erosion, Deforestation)
What is the percentage of oxygen and carbon dioxide existing in the ecosystem?
(21% and 0.004%, 21% and 0.03%, 20.03% and 0.44%, 20.03% and 0.03%)
Which of the following gas is responsible for Global warming?
(CO2, H2S, CO, CH4)
Which of the following food chain correctly describes the flow of energy in an
ecosystem? ’
(Grass- lion -human, Cow- grass- lion, Leaf- bird- lizard, Grass-goat- lion)
Maslow identified set of needs.
(Three, four, five, six)
are the people who conceal their opinions and feeling and do not take

any interest in conflict resolution.
(Concealers, Aesthetics, Security, Believers)
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1 occurs when the person does not know what he is supposed to do on the
job.
(Role conflict, Role ambiguity, Work underload, Work overload)
18. The stressors are also called job-related stressors.
(Organizational, group, individual, self) o
19. is the situation in which two or more parties feel themselves in
opposition.
(Stress, Conflict, Frustration, Agreement)
20. refers to behaviour that is intended to cause harm or pain.

(Conflict, Violence, Aggression, Abuse)

Q.2A  Explain Fundamental Rights of Indian Constituents 07
Q.2B  Write a note on the concept of privatisation. 04
OR
Q.2C  Explain the effect of globalisation on agriculture, 07
Q.2D Whatis UDHR? Explain any 4 Articles. 04
Q.3A  Discuss the structure and functions of the ecosystem. 07
Q.3B.  Write a note on Sustainable development. 04
OR
Q.3C  Explain the forms of environmental degradation . 07
Q.3D Write a note on the Energy pyramids: 04
Q.4A Discuss the meaning and.causes.of conflict. 07
Q.4B What are the measures, of resolving aggression and violence in the 04
society?
OR
Q.4C Do you think that eonflict has its roots in individual and society's behaviour? 07
Comment.

Q.4D Define Stress. Enumerate the causes of stress on individual and society. 04

.8 Do as directed (Any TWO) 02
Define Globalisation.
Define Ecology.
Methods of coping with stress
What is meant by conflict?
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